Complex Numbers 3.10

3.10
Applications of

deMoivre's Theorem

@ write in polar form
=7 6=7

@write in general polar form
@ use de Moivre's theorem

@ generate results
for n=0, n=l, n=2
3 results because

a cubic has 3 Solutions
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@ Find the values of z for which z° = —8, giving your answer in a + bi form.
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@ write in polar form
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@write in general polar form

@ use de Moivre's theorem

@generate results
for n=0, n=l, n=2
3 results because

a cubic has 3 Solutions

Solutions

Find the cube roots of 27i.
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